normalized X?

107

107

[ normalized x? probability |
0.05 T T T T T T Entries

Mean
td

0.07

0.06

0.05

0.04

Ratio

e H . . H H H H
0.8% =
0 2 4 6 8 10 12 14 16 18 20
XZ
m=m== DQM_original_step2_tthar-phasel-newgeom
mmemm DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
wmm—= DQM_pixelCPETemplateCutChiSquareNew7_step2_ttbar-phasel-newgeom
A 2.5
k=i
c
> 2
\
1.5
0.5]
o 40
T 1.05
o
1
0.95]
0.9
-3
A 9 A F
g 2 18f-
% 25 3< 1.6f-
v v E
2 1.4~
1.2F
1.5 -
0.8F-
¥ 0.6F
05 0.4F
0.2F
o 0 o GF
& 14 &
0.5
1
0. oL~ L
107" 10 107

1 -1
AR(track, jetg)



	Contents
	Page 1


